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Answers to After Test3 Assignment:
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TSW write an equation of a line. 1) A4 et
104
QRQ1: (: \ a.) What is the y-intercept of this
Which equation is equivalent Which equation is equivalen = graph? b=
= -27? = - .
toy=3/4x-27 y=-5x+3 \1 b.) What is the slope of this graph?
B ‘f\\ ' rise m="%
A dy=-3¢-8 A 2y=10x-6 A run
qY 3 / z T - \ ? c.) What is the equation of this line?
VEog vy=§ \ - et
4y=3x-8 B 2y=10x+6
T 3‘/ ' xR
\I T X -2 \/ = Sx
C -4y=3x-8 C -2y=10x+6
=
Y=-6x-3
D -4y=-3x-8 D -2y=10x-6
3 =z
ik +D
2.) . 3.)

o a.) What is the y-intercept of this a.) What is the y-intercept of this
3t78s=s graph? b= _~ graph?  b=_7
R b.) What is the slope of this graph? N6 b.) Whatis the slope of this graph?

{ : dse  m=f N fse  m=zz
1 : run i run
Saan < c.) What is the equation of this line? x| c.) Whatis the equat’i}on of this line?
0 -0 x-4 v =Xt L
1 &
!
4 Match each Equation with the correct Graph. Refer to you Graphing Notes!
Ds5)y=8  Be)x=2 A7)y=4  C8)x=5
a.) What is the y-intercept of this A . )
graph? b=~ [ i H
b.) What is the slope othis graph? R
- rise m= —5_ T B
. run EEamsmsas rmsann=as b
2% ‘
a7 c.) What is the equation of this line? [————
Ak i '
Zx -t ¢
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10) .Grapt} this equation 5x +2y =10 tnyour calcu}ator. Pries5 2% Graph, Cirleall of t}}e
N y= Uty 9 2% 46y _20 folloatareonml;;. (Hint Ifthe[.pfl%tsaremthe%eonthelme]
_a1 YL L) 43k
A ;
- 5=-S/ _2, #3b wnaies Sx 42y =10
Jes No -

otes Handout:

Write an equationyfor each line that is graphed

1.)
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2)
m= 9
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o) Equation of Line:
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Equation of Line:

\! == q *
3) mé 4) y
l)r\Af m =MMA m =Q
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2 Equation of Line:
Equation of Line: \J'—' -
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Equation of Line:
= '%x £3%

wolﬁ{'/xb=L

B
m=_9

Equation of Line:
=gt T
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7) y

, m=0_

b=5

Equation of Line:

y=5

8.) Y,
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Equation of Line:
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How can you find the x-interce
without having the graph? Or

9.) 8x+6y=24

To find the x-intercept

Y0 g oty 2
=z

b4

K=

To find the y-intercept
let Wﬂv\[ =

=Yy
(3_:'[ <
N: Ls

pts and y-intercepts of a graph
without a graphing calculator?

10.) 7x-3y =21
To find the x-intercept
lety = 0 qy—::ée?’ﬂ
Hx=U
=z
x=">

To find the y-intercept
let 2_,(@7 -2y 21

“3y=1l
-y 73
\l:”‘]’

)(”.,*uc,p,\- ('b,‘b
\r’mkl‘e.ﬂ«d' (0,4)
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11.) -4x + 5y = 20

To find the x-intercept
lety=0 ~4%=20

=4
X= 75
To find the y-intercept

letx=0 a;&
s

S
§=4

- i0deCce ¥ 2 (15’07
\{,.v\l«.rc_-.,d\': (06,9

12.) -9x -2y = 36

To find the x-intercept

lety=0 “Qr=3e
= -9
)(__-L{

To find the y-intercept
letx=0 -Z:[f3(’
-7 -7
Y: %

K-lerteccegk® L“/,Cb
\ ~feccet * ©,"9




Now Complete:
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